11th May
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Here is a grid of regular hexagons

The shaded shape has an area of
3 hexagons and perimealer of 12cm.

Draw another shape on the grid which has

an area of 4 hexagons and a perimeter of
16cm
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Sarah has tha same number of 2p coins
and Sp coins.

Rarah has 2 10 in ?p cnins

How much money doas Sarah have in
iotal?
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12th May

0.008 + 0.55 + 0.093
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A teachar asks somea girls and boys what
they wanied to do on a school irip

key-
100%
D CImEma
[] 2=
50%
D bowding
D?’:-

Girls Boys

What percentage of girls wantad o go to
tha zoo?

12 boys wantad to go bowling.

Estimate how many boys wantad to go fo
the cinema.

Fowr friends are in a race.
Alice is 5 meires ahead of Barry
Clara iz 10 metres behind Dylan

Barry iz 3 metras behind Dylan

Write the names of the runners in ardar,
starting with the friend who is furthest
aheaad
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Mama: Primary 5-a-day Gold ;

13th May R;
3

1 x 12 70,925 + 120,406

Place these numbers in the correct
position on the Venn diagram

i multigles of 8§

4

Writa the numbars abowve in ardar, starting
with tha smallast

105 140 151 155 (" (erpmwn) .
(D -
08 20% L 043

Emily is half as tall as his mothear.
Emily is ¥5cm shortar than her father.
Emily's father is 1.7m tall.

How many centimeires tall is Emily's
mathar?

0 Corbattmalhs 2017

wvinw. corbatimaths_com



J Primary 5-a-day Eold
14th May

25
Simplify ﬁ 705 x 21

This graph shows the number of puffins How many puffins lived on the island in
living on an island 217y

Shjmberr g7

i Find

In what year was the number of puffins the
same as 20087

e B3

‘Fear

Lad

‘Wark out the perimeter of this shape 4cm cm

GBom

1lem

2lem
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15th May

20 =100

90 x 32 = 300 +

Thair times are:

Jonah 19.23 seconds
Moah  19.4 seconds
Jaramy 19.00 saconds
David 19.155 seaconds
Alan 1938 seconds

5 children take part in a race.

Thia top three children win gold, sitkver and
bronze medals.

Who won the bronze medal 7

4 and & less than 50.

Write down all the comman multiples of

August?

How many hours are there in tha month of
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